
F-F ( 1 : 4 )

G-G ( 1 : 4 )

H ( 1 : 1 )

J ( 1 : 1 )

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F
1:3

0205

 

LCGT.0206-00

2-12-2010

G. Gennaro

R. De Salvo














A2

di Gennaro Gianni

mK
 


 


 



PROMEC



F F

G G

H

J

    
    
    
    

2.1 1 AISI 304 L 1:3
2 1 AISI 304 L 1:3

ref. pieces material scale

   
   
   
   

modifications
ref. note date

   
   
   
   
   
   

ref. draw. legend

LCGT-SAS
FILTER STANDARD-Gr.2

DETAILS CUP

Note A: Drill and machining after welding in according
           with dimension in the drawing 0005
 
           All dimensions are finals without swarf

(Note A)

n° 12 groups

25
5

25

25

25

25

M5x0.8 - 6H
n°72 holes

97

131
117

M6x1 - 6H

1

102 H7 (- 0,000
0,035+ )

M8x1.25 - 6H

18

70
0


- 0

,00
00,1

00

+

712

724

M8x1.25 - 6H
n°16

22
,5

22
,5

2

2
1

68
°

12

569,188


